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87 26 7 315 60 7 315

27.6 8.3 22| 100.0 19.0 2.2| 100.0

226 74 15 726 146 16, 726

311 10.2 21| 100.0 20.1 2.2| 100.0

88 34 7 288 81 8 288

30.6 11.8 24| 100.0 28.1 2.8| 100.0

38 15 2 127 29 2 127

29.9 11.8 16| 100.0 22.8 1.6] 100.0

182 47 13 559 96 14 559

32.6 8.4 23| 100.0 17.2 2.5 100.0

42 19 1 141 33 4 141

29.8 135 0.7] 100.0 23.4 2.8| 100.0

172 49 9 525 93 11 525

32.8 9.3 1.7[ 100.0 17.7 2.1| 100.0

0 1 0 8 1 0 8

0.0 12.5 0.0|] 100.0 12.5 0.0] 100.0

10, 2 0 29 6 0 29

34.5 6.9 0.0] 100.0 20.7 0.0] 100.0

333 101 25 1,082 200 26| 1,082

30.8 9.3 23| 100.0 18.5 2.4 100.0

24 22 930 17 24 930
2.6 24| 100.0 18 2.6| 100.0
21 22 938 16 24 938
2.2 23| 100.0 17 2.6| 100.0
7 7 315 5 8 315
2.2 22| 100.0 1.6 25| 100.0
15 15 726 14 16 726
2.1 21| 100.0 1.9 2.2| 100.0
4 7 288 2 6 288
1.4 24| 100.0 0.7 21| 100.0
2 1 127 3 1 127
1.6 0.8| 100.0 2.4 0.8| 100.0
14 14 559 14 15 559
25 25| 100.0 25 2.7 100.0
0 1 141 4 2 141
0.0 0.7| 100.0 2.8 14| 100.0
7 10 525 11 10, 525
13 1.9 100.0 2.1 1.9] 100.0
1 0 8 0 0 8
12.5 0.0| 100.0 0.0 0.0] 100.0
0 0 29 0 0 29
0.0 0.0| 100.0 0.0 20.7 41.4 37.9 0.0] 100.0
24 25 1,082 22 205 461 367| 27| 1,082
2.2 23| 100.0 2.0 18.9 42.6 33.9 2.5| 100.0
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2 70 71 982 2 45 21 982
0.2 7.1 7.2| 100.0 0.2 4.6 2.1 100.0
2 37 33 505 2 33 9 505
0.4] 7.3 6.5 100.0 0.4 6.5 1.8] 100.0
1 55 65 917 0 34 20 917
0.1 6.0 7.1 100.0 0.0 3.7 2.2] 100.0
0 58 54 831 2 41 15 831
0.0 7.0 6.5 100.0 0.2 4.9 1.8 100.0
1 58 49 751 1 36 13 751
0.1 7.7 6.5 100.0 0.1 4.8 1.7] 100.0
0 23 21 231 2 11 4 231
0.0 10.0 9.1 100.0 0.9 4.8 1.7] 100.0
1 17 29 305 1 17 8 305
0.3 5.6 95| 100.0 0.3 5.6 2.6/ 100.0
0 6 1 45 0 7 0 45
0.0 13.3 2.2| 100.0 0.0 15.6 0.0] 100.0
0 8 9 101 0 8 2 101
0.0 7.9 8.9 100.0 0.0 79 2.0 100.0
0 0 0 0 0 0 0 0
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0 0 1 8 0 0 1 8
0.0 0.0 12,5 100.0 0.0 0.0 12.5( 100.0
1 1 7 8 2 19 1 0 1 19
5.3 5.3 36.8 42.1 10.5[ 100.0 5.3 0.0 21.1 68.4 53| 100.0
3 7 437 487 78| 1,082 3 56 458 542 23] 1,082
0.3 7.1 40.4 45.0 7.2| 100.0 0.3 52 42.3 50.1 2.1 100.0
207 23 982 2 24 982

21.1 2.3] 100.0 0.2 2.4) 100.0

133 11 505 1 11 505

26.3 22| 100.0 0.2 2.2| 100.0

182 21 917 3 22 917

19.8 2.3] 100.0 0.3 2.4 100.0

177 16 831 2 17 831

21.3 19| 100.0 0.2 2.0[ 100.0

163 14 751 2 15 751

217 19| 100.0 0.3 2.0[ 100.0

51 5 231 0 6 231

22.1 22| 100.0 0.0 2.6 100.0

63 9 305 2 11 305

20.7 3.0 100.0 0.7 3.6 100.0

9 0 45 0 0 45

20.0 0.0 100.0 0.0 0.0 100.0

25 3 101 0 3 101

24.8 3.0 100.0 0.0 3.0 100.0

0 0 0 0 0 0

0.0 0.0 0.0 0.0 0.0 0.0

1 1 8 0 1 8

12.5 12.5| 100.0 0.0 12,5 100.0

2 3 19 0 1 19

10.5 158 100.0 0.0 53| 100.0

226 27( 1,082 3 27| 1,082

20.9 2.5 100.0 0.3 2.5 100.0
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81 23 982 23 982
82| 23| 1000 23| 100.0

5 11| 505 0] 505

89| 22| 1000 20| 100.0

80 21 o017 20 o017

87| 23| 1000 22| 100.0

61 14| 83l 15| 83l

73] 17| 1000 18] 1000

71 14 751 5] 751

95 19| 1000 20| 1000

23 4 231 5| 231

100[ 17| 1000 22| 100.0

34 11| 305 0] 305

111 36| 1000 33| 1000

6 0 5 1 5

133[ 00| 1000 22| 1000

19 3] 101 4 101

99| 337| 347] 188/ 30| 1000 40| 1000
0 0 0 0 0 0 0

00| 00| 00| 00 00 00 00

1 1 2 1 8 1 8

125 125 250 125 1000 125 1000

6 7 3 1 19 2 19

105 316| 368 158 53| 1000 105 100.0
212| 411] 333|101 25| 1,082 26| 1,082
196] 380 308 93| 23| 1000 24| 100.0
21 23 982 25| 982
2.1 23| 100.0 25| 100.0
2 2] 505 0] 505
0.8 24| 100.0 20| 1000
22 20 917 23 o017
24 22| 1000 25| 100.0
18 14 831 15 831
22 17| 1000 18] 1000
16 5] 751 14 751
2.1 20| 1000 19| 1000
6 4 231 4 231
26 17| 1000 17| 1000
7 10 305 2] 305
23 33| 100.0 39| 100.0
2 0 5 0 5
14 00| 100.0 00| 100.0
3 3] 101 3] 101
30 30| 100.0 30| 100.0
0 0 0 0 0
0.0 00/ 00 00/ 00
1 1 8 1 8
125 125 1000 125 1000
0 1 19 1 19
00| 53] 737] 158/ 53| 1000 00| 158] 474] 316] 53] 1000
24| 233|415 3% 25| 1,082 22 205| 461 367 27| 1,082
22| 215 439] 300] 23| 1000 20| 189| 426] 339] 25| 1000
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